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Budget constraint :

✗punditme :
•
M : to purchase money

( at price of 1)
• C ✗ [1+-4×1] xp : to purchase

y
services

matching
wedge = # matching price of
services for I 1 service

service consumed

Income ! U > 0 : endowment of money
• k × floc) xp : income from selling

services

- p = price of one service

-

b. ✗ flu) = # services sold

-
C ✗ [ + elseD= # services purchased

Budget constraint : income = expenditure
y

+ pfcn) - k = m + p
. [ it -44] . c

I ↑
selling probability matching wedge

Walnasian world : fcx) =\ Wakashan Wald : Thx / = 0

matching wald : fcxkl matching world ! -4×1>0


